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L3IFE| ERS2| 7. 3-6. 8+ (1+1) 2.5
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L2IF5E | BEFRER[ 6.8+2. 8+ (1+1) 11.6

L3IFEE | BR%&2E| 6.8+6+(1+1) 14.8
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Lizgz|Lisge| 18.4-10. 3+5. 7+ (1+1) 15.8
Lizgz|LizEge| 14.4-10. 3+5. 7+ (1+1) 11.8
LisgzluisEgz| 3.9+10. 3+5. 7+ (1+1) 21.9
Lomtask|Logia| 18.4-10. 3+5. 7+ (1+1) 15.8
Lozms|Loss| 14.4-10. 3+5. 7+ (1+1) 11.8
Loz losms| 3. 9+10. 3+5. 7+ (1+1) 21.9
Lasigiz| 3| 11. 3+10. 3+5. 7+ (1+1) 29.3
Laaiig| L] 7. 3+10. 3+5. 7+ (1+1) 25.3
Lasiiz|3mm®| 10. 3-8. 2+5. 7+ (1+1) 9.8
Lasigiz|Laspe| 11, 3+10. 3+5. 7+ (1+1) 29.3
Lasig| L] 7. 3+10. 3+5. 7+ (1+1) 25.3
Lamips|L4mms| 10.3-8. 245, 7+ (1+1) 9.8
L-1 [IF# [ 5.8+0.5+(1) 1.3
L-2 |IF# | 5.8+0.5+(1) 1.3
L-3 |IF# [ 5 8+5+(1) 11.8
L-4 |IF# [ 5 8+5+(1) 11.8

a5t 623.5
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H 2 5 &

=2 (20/747)

ETCEfE L= EE . GItY), [ZER]
2. FIFFPICEHRT (8/8)
1§ B = ¥R BfI = | 8| E HJ
5C-2V m 39.0 |=EEEHI| L-3 | 5.8+12. 7+(1) 19.5
L-4 | 5.8+12.7+(1) 19.5
Bt 39
ESLLANT-7" I (CAT5) m 48.4 |L11F%E|B8%%8| 6.8-1.6+(1+1) 7.2
L21F% | #5%38| 6.8+2. 8+(1+1) 11.6
L3IF& | Bg 2] 6. 8+6+(1+1) 14.8
LAIFE [ BBREE[ 6. 8+6+(1+1) 14.8
&t 48.4

1¢-€
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2 21./47)

ETCER{iF T = BE . LtY), [ER]
. IEBREICESLET (1/8)
15 B =T 5 Bify = B £ 5t "
1T HEERFAORERT EYESHTINET S
(M E yb-2)-THtAA 600V CVT 60sq m 26.9 |{£Ehf&| UPS | 4.3+13.2+2+5. 4+ (1+1) 26.9
600V CV 22sq-3C m 11.3 UPS | ETCH | 4. 3+5+(1+1) 11.3
600V CV 14sg-3C m 12.8 |{E&EpAE| L-1,2] 5.4+(1) 6.4
Ese|l-3.4 | 5.4+(1) 6.4
= 12.8
600V CV 8sg-3C m 17.0 UPS L-1 4.3+(1) 5.3
UPS -2 | 4.3+(1) 5.3
UPS L-3 | 4.3+(1) 5.3
UPS L-4 | 4.3+(1) 5.3
Eula—-| 5 4+(1) 6.4
= 17
600V CV 2s0-3C m 40.0 |EEES4I| 1748 | 104 40
FCPEV-S 0. 65-5P m 40.0 |EEEEHI| T4 | 10%4 40
5C-2V m 20.0 |EEEHI|H A S| 102 20
MM 4C m 40.0 | ETCE= | B&XIF | 5%4 20
ETCZE [ HimB| 5*2%2 20
40

¢¢-€



W E 5 8 8 2747
ETCEf# L= e (kYY) [ER]
. MEBFEICEMRT (2/8)
15 B = ¥R B %H & | B | E H "

IV 8sq m 20.0 |EEimiB|aL—o | 10%2 20
Q) epEN 600V GV 22sq-3C m 57.4 | UPS [ETCH [ 13.2+2+18.8+17.2+6.2 57.4
600V GV 14sg-3C m 112.0 |1EEp8E| L-1, 2| 13.2+4. 5+5. 6+7. 5+5. 7+ (10. 8-5. 8) *2+5. 7+10. 8-5. 8+ (1*3) 60. 2
{EENAE|L-3,4 [ 13.2+4. 5+5.6+7.5+(9. 9-5. 8) #2+5. 7+9. 9-5. 8+ (1*3) 51.8
&it 112
600V GV 8sq-3C m 237.9 [ UPS L-1 [ 13.2+4.5+5. 6+7. 5+5. 7+5. 7+10. 8-5. 8+ (1) 48.2
UPS L-2 [ 13.2+4.5+b. 6+7.5+5. 7+10. 8-5. 8+ (1) 42.5
UPS L-3 [ 13.2+4.5+5.6+7.5+5. 7+9.9-5. 8+ (1) 41.6
UPS L-4 [ 13.2+4.5+5.6+7.5+9.9-5.8+(1) 35.9
{EEN#E [ L—> | 6.8+5. 6+7.5+5. 7+ (9. 9-5. 8) #4+ (10. 8-5. 8) *2+5. 7+10. 81 69.7
&t 237.9
600V GV 2sg-3C m 227.6 [EHEEHI| L-1 | 16.6+3. 8+13. 2+4. 5+5. 6+7. 5+5. 7%2 62. 6
-2 | 16.6+3.8+13. 2+4.5+5. 6+7.5+5.7 56.9
-3 | 16.6+3.8+13. 2+4.5+5. 6+7.5+5.7 56.9
L-4 | 16.6+3.8+13.2+4.5+5. 6+7. 5 51.2
it 227. 6

€¢-€



o 2 5 8 & (23747

ETCEf# L= e (kYY) [ER]
. MEwBEICEMRI (3/8)
1§ B =® & Bl HE | B | E H -1
FCPEV-S 0. 65-5P m 227.6 |EHEEHI| L-1 16. 6+3. 8+13. 2+4. 5+b. 6+7. 5+b. 7*2 62. 6
-2 | 16.6+3. 8+13. 2+4. 5+5. 6+7.5+5. 7 56.9
-3 | 16.6+3.8+13. 2+4. 5+5. 6+7.5+5. 7 56.9
-4 | 16.6+3.8+13.2+4. 5+5.6+7.5 51.2
=1 227.6
5C-2V m 108. 1 |E&HI| L-3 | 16.6+3. 8+13. 2+4. 5+5. 6+7.5+5. 7 56.
-4 | 16.6+3.8+13.2+4. 5+5.6+7.5 51.
=1 108.
MM 4C m 271.2 | ETC= | L-1 | 6.2+17.2+18. 8+6. 8+5. 6+7. 5+5. 7*2 73.
-2 | 6.2+17.2+18. 8+6. 8+5. 6+7. 5+5. 7 67.
-3 | 6.2+17.2+18. 8+6. 8+5. 6+7.5+5. 7 67.
L-4 | 6.2+17.2+18.8+6. 8+5. 6+7.5 62.
=1 271.
IV 8sq m 78.4 |#Eimag| L-2 | 13.2+4.5+5.6+7.5+5. 7+10. 8-5. 8+ (1) 42.
-4 | 13.2+4.5+5.6+7.5+9.9-5.8+(1) 35.
&E 78.
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o8 5 8 8 244D

ETCEf# L= e (kYY) [ER]
. IMEREICRIRT (4/8)
] B =® i By %= | 8| =E &t =
GENEY 600V _CV 3. 5s9-3C m 770.2 | L-1% [BEXR4R| (10.8-5.8+5. 7+15. 1-5. 8+b. 7+2. 9+ (1+6+1) ) x2 13.2
Ree[ (10.8+1. 6+(1+1))*2 28.8
R 22.9-10. 8+ (1+1) 14.1
EHiRE| 18.4-10. 8+ (1+1%2+1) 11.6
BHiRER| 18.4-5. 8+6. 2+18. 4+ (1+1*2+1) 41.2
EHRE] 10.8+3. 9+ (1+1%2+1) 18.7
BHiR2] 10.8-5. 8+6. 2+5. 8+3. 9+ (1+1*2+1) 24.9
HMFEAR| 23.6-10. 8+ (1+1) 14.8
L-2%4 |E&RiR| (10.8-5.8+15. 1-5. 8+2. 9+ (1+6+1)) *2 50.4
ks (10.8-2. 8+(1+1))*2 20
WA 22.9-10. 8+ (1+1) 14.1
BHiRE] 18.4-10. 8+ (1+1%2+1) 11.6
EHiREe| 18.4-5. 8+6. 2+18. 4+ (1+1*2+1) 41.2
EHiRE] 10. 8+3. 9+ (1+1%2+1) 18.7
BHiR2| 10.8-5. 8+6. 2+5. 8+3. 9+ (1+1*2+1) 24.9
HFEAMR| 23.6-10. 8+ (1+1) 14.8
L-3% [E&RR| (9. 9+7. 5+ (1+6+1)) *2 50. 8
BxaE| (9.9-7+(1+1))*2 9.8
EETHE 9. 9+9. 6+ (1+1) 21.5
B[ 9. 9+9. 1+ (1+1%2%4+1) 29
EiR28| 9.9-5. 8+5. 7+8. 8-5. 8+8. 8+9. 1+ (1+1%2%4+1) 40.7
snFAR| 9. 9+9. 9+ (1+1) 21.8
L-45> [BHRR]| (9. 9+7. 5+ (1+6+1)) *2 50. 8
R (9.9-T7+(1+1)) 2 9.8
EHTHE 9. 9+9. 6+ (1+1) 21.5

G¢-€



o8 5 8 8 254D

ETCEf# L= e (kYY) [ER]
. MEHFICERT (5/8)
] = T ¥R B HE | B | E H H
BRER[ 9. 940 1+ (1+1x2x4+1) 29
E1258| 9.9-5.8+5. 7+8.8-5. 8+8. 8+0. 1+ (1+1x2x4+1) 40.7
FFEAMR| 9.9+9. 9+ (1+1) 21.8
&t 770.2
600V CV 2sg-3C m 16.0 [ L-1 |IF# | 5 8-0.6+(1) 6.2
L-2 |IF#% | 5.8-0.6+(1) 6.2
L-3 [IF# | 5.8-5+(1) 1.8
L-4 [I1F# | 5.8-5+(1) 1.8
A&t 16
FCPEV-S 0. 65-30P m 61.2 |L1IFgE|E&S1| 18. 4-10. 8+ (1+1%2+1) 11.6
L21F%E | E4&S1[ 18.4-10. 8+(1+1) 9.6
L3IFgE | ES1| 9. 9+8. 1+(1+1) 20
L4IFgE | ES1[ 9. 9+8. 1+(1+1) 20
&t 61.2
FCPEV-S 0. 65-20P m 88.8 |L1IF%|=S2[ 14.4-10.8+(1+1) 5.6
L11F%E | E4S4[ 10.8+3. 9+ (1+1) 16.7
L21F%E | E4S2[ 14.4-10.8+(1+1) 5.6
L21F%E | E4S4[ 10.8+3. 9+ (1+1) 16.7
L3IF&E [ H48S2| 9. 9+4. 1+(1+1) 16
L3IF4 | E44S4[ 9.9-8.8+(1+1) 3.1
1332 [=#s2| 1+(1+1) 3

9¢-€



N 8 5 B F (26/47)
ETCEf# L= % (LEY),
. IMEREICRIRT (6/8)
] B s ¥k By %= | 8| =E &t

LAIFE [ H&S2| 9. 9+4. 1+(1+1) 16
LAIF&E [ H4RS4] 9.9-8. 8+(1+1) 3.1
L4S2 [=H#&S2[ 1+(1+1) 3
at 88.8
FCPEV-S 0. 65-10P m 112.6 |L1IFSE|[E&R4R| 10. 8-5. 8+b. 7+15. 1-5. 8+5. 7+2. 9+ (1+6+1) 36. 6
L2IF& | E&R4R| 10. 8-5. 8+15. 1-5. 8+2. 9+ (1+6+1) 25.2
L3IFE | ERIR| 9. 9+7. 5+ (1+6+1) 25.4
LAIFE | ERIR| 9. 9+7. 5+ (1+6+1) 25.4
At 112.6
FGPEV-S 0. 65-5P m 588.9 |L1IFE|pmrsg| 22. 9-10. 8+ (1+1) 14.1
L2IF & [EEmrag| 22. 9-10. 8+ (1+1) 14.1
L3IFSE | epiag) 9. 9+9. 6+(1+1) 21.5
LAIFSE | Epmag) 9. 9+9. 6+ (1+1) 21.5
Ligmng| LiR#E| 22.9-2. 8+ (1+1) 22.1
Losbsig| LiRHE [ 22. 9-2. 8+ (1+1) 22.1
Labrig| LI2#E( 9. 6-1. 6+ (1+1) 10
Lairtg| LIRHE) 9. 6-1. 6+ (1+1) 10
L1IFSE Bz | 10.8+1. 6+ (1+1) 14.4
L2IF |BR&ae| 10.8-2. 8+ (1+1) 10
L3IFE | BRF&aR| 9. 9-7+(1+1) 4.9
LAIFSE | BRF&2E| 9. 9-7+(1+1) 4.9
LTIFE [ sn&AR| 23. 6-10. 8+ (1+1) 14.8

L21F % | 5045 | 23. 6-10. 8+ (1+1) a8
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N 8 5 8 F Q2747
ETCRA R T W% GIhY), [R]
. EEEICERT (7/8)
] B =® i Bify 2 | 8| E &t

L3IFE | snkAR] 9. 9+9. 9+ (1+1) 21.8
LAIFE | snRAR| 9. 9+9. 9+ (1+1) 21.8
LiEg|uizEgz| (18.4-5. 8) *2+6. 2+ (1+1) 33.4
LiEgz|uissz| (14.4-5. 8) *2+6. 2+ (1+1) 25.4
Lizgg|Lizge| (5. 8+3.9)x2+6. 2+ (1+1) 27.6
Losgiz|Losp®| (18.4-5. 8)*2+5. 7+ (1+1) 32.9
Loswgiz|losp®| (14.4-5. 8)*2+5. 7+ (1+1) 24.9
Lomtask|Lomia| (B 8+3. 9)*2+5. 7+ (1+1) 27.1
Lamtask|L34a2| (8. 1+5. 8) *2+5. 7+ (1+1) 35.5
Lamtask|L3gia| (4. 1+5. 8) *2+5. 7+ (1+1) 21.5
L3mtesk|L3g4a2| (8. 8-5. 8)*2+5. 7+ (1+1) 13.7
L Laspe| (8. 1+5. 8) x2+7. 5+ (1+1) 37.3
Lz usrz| (4. 1+5.8)x2+7. 5+ (1+1) 29.3
Lasipiz|Lasn®| (8.8-5.8)x2+7. 5+ (1+1) 15.5
L-1 | I-¥#£] 5.8-0.6+(1) 6.2
L-2 | I¥#£] 5.8-0.6+(1) 6.2
L-3 | IF#([ 5 8-5+(1) 1.8
L-4 |IF# [ 5.8-5+(1) 1.8

a&t 588.9
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W 2 5 8 8 28/47)
ETCEf# L= e (kYY) [ER]
. MEwBFICEMRTI (8/8)
| = =® & Bf = | B | E &t

5C-2V m 14.6 |E=E4I] -3 | 12.1-5.8+(1) 7.3
-4 | 12.1-5.8+(1) 7.3
=118 14.6
ESLLANT=7" )l (CATS) m 34.2 [L1IFE | eskas] 10.8+1. 6+(1+1) 14. 4
L2IF& | B83& 28| 10.8-2. 8+ (1+1) 10
LIIFE | BE&E8] 9. 9-7+(+1) 4.9
L4IFE | BgR[ 9. 9-7+(1+1) 4.9
=t18 34.2

6¢-€



Az —_— Vaxayd
E5 st B E (29/47)
ETCER{iF T = BE . LtY), [ER]
4. WWEJLICE#RT (1/8)
15 B =T 5 =-Xiv = B F 5t "
1 BT HEEHFHAOREIET FY ESHTINET 5
(M E yb-2)-THtAA 600V CVT 60sq m 12.0 [{EEpAE| UPS | 5.8+4. 2+ (1+1) 12
600V CV 22sq-3C m 8.1 UPS | ETCH | 4.2+2.9+(1) 8.1
600V CV 14sg-3C m 51.8 UPS L-1 4.2+2.9+(1) 8.1
UPS -2 | 4.2+2.9+(1) 8.1
UPS L-3 | 4.2+42.9+(1) 8.1
UPS L-4 | 4.2+42.9+(1) 8.1
EEpRE| L-1,2| 5.8+2.9+(1) 9.7
KENHE|L-3,4 | 5.8+2.9+(1) 9.7
= 51.8
600V CV 8sg-3C m 36.0 UPS |[#+HT2| 4.2+2.9+17. 2+ (1+1) 26.3
KENHE| =& L—>| 5.8+2.9+(1) 9.7
= 36
600V CV 2s0-3G m 40.0 |EEES4|1F#% | 104 40
FCPEV-S 0. 65-5P m 40.0 |EEEHI| T4 | 10%4 40
5C-2V m 20.0 |EEHI| A A S| 1052 20
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H 2 5t 8 8 B047D)
ETCEf# L= e (kYY) [ER]
4. 2 SILICE#ET (2/8)
] B s ¥k B L & | B | E &t "

MM_4C m 80.0 [ETC= | BRIF [ 10%4 40
ETCE [HimBH| 10%2+2 40
aEt 80
IV 8sq m 20.0 |EEimig|eL—o | 10%2 20
(2) R EN 600V _CV 22s9-3C m 117.9 | UPS | ETCH | 24.2+21+16. 6+23. 2+32.9 117.9
600V _CV 14s9-3C m 304.9 | UPS [ L-1 | 24.2+5.9+8.5+1+(1) 40. 6
UPS | L-2 | 24.2+5.9+8.5+6+1.4+(1) 47
UPS | L-3 | 24.2+5.9+8.5+5. 7+3. 4+ (1) 48.7
UPS | L-4 | 24.2+5.9+8.5+5. 7%2+3. 4+ (1) 54.4
EENAE| L1, 2| 24. 2+5. 9+8. 5+1*2+6+1. 4+ (1%3) 51
{EENHE|L-3,4 [ 24. 2+5. 9+8. 5+5. 7+3. 4%2+5. 7+3. 4+ (1*3) 63.2
&t 304.9
600V _CV 8sg-3C m 102.8 | UPS [#4+T2| 12.5+(8) 20.5
KB (&1L —>| 24. 2+5. 9+8. 5+5. T+1%2+6+1. 4+5. 7+3. 4%2+5. 7+3. 4+ (1%7) 82.3
a5t 102. 8
600V _CV 2sg-3C m 405.2 [=EEHI[ L-1 | 32.8+23.2+16.6+14.5+8.5 95.6
L-2 | 32.8+23. 2+16. 6+14.5+8.5+5. 7 101.3
L-3 | 32.8+23.2+16. 6+14.5+8.5+5. 7 101.3
L-4 | 32.8+23.2+16. 6+14. 5+8. 5+5. 7+5. 7 107
a5t 405. 2
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5 st 8 2 31./47)
ETCEf# L= e (kYY) [ER]
4 2BILICEHRT (3/8)
b = =® & Bl HE | B | E Ha

FCPEV-S 0. 65-5P m 405.2 [=EHI| L-1 [ 32.8+23.2+16. 6+14.5+8.5 95.6

-2 | 32.8+23.2+16.6+14. 5+8. 5+5. 7 101. 3

-3 | 32.8+23.2+16.6+14. 5+8. 5+b. 7 101.3

-4 | 32.8+23.2+16.6+14.5+8. 5+5. 7+5. 7 107

=118 405. 2

5C-2V m 208.3 |=HEEHI] -3 | 32.8+23.2+16. 6+14. 5+8. 5+5. 7 101.3

L-4 | 32.8+23.2+16.6+14.5+8. 5+5. 7+5. 7 107

=t18 208. 3

MM 4C m 405.2 | ETC=E| L-1 | 32.8+23.2+16.6+14.5+8.5 95.6

-2 | 32.8+23.2+16.6+14. 5+8. 5+b. 7 101.3

-3 | 32.8+23.2+16.6+14. 5+8. 5+b. 7 101.3

-4 | 32.8+23.2+16.6+14.5+8. 5+5. 7+5. 7 107

=t18 405. 2

IV 8sq m 208.3 |#EimfE] -2 | 32.8+23.2+16.6+14. 5+8.5+5. 7 101.3

-4 | 32.8+23.2+16.6+14. 5+8. 5+5. 7+5. 7 107

&t 208. 3

¢€-€



N 8 5 8 F B2747)
ETCEf# L= e (kYY) [ER]
4. 2 SILICE#T (4/8)
] B =® ¥k By %= | 8| =E &t =
G BNAEY 600V _CV 3.5sg-3C m 908.0 | L-14> |ERMR| (1+5. T+6+15. 1+ (1+6+5. 7+2. 8+1) ) *2 88. 6
R (-1.6+1+1))*2 14.8
R 7+22. 9+ (1+1) 31.9
BHRER| 18 4+7+(1+1%4+1) 31.4
BEHRER| 1+8. 5+6+18. 4+ (1+1x4+1) 39.9
TR 23. 6+7+(1+1) 32.6
L2459 [BERMR| (1. 4+6+5. 7+6+15. 1+ (1+6+2. 8+1) ) *2 90
P A (1. 4+6+5. 7+6+2. 8+ (1+1)) %2 47.8
WEETHE| 1. 4+6+5. 7+6+22. 9+ (1+1) 44
e[ 3. 9+1. 4+ (1+1%2+1) 9.3
BHiRgg| 1. 4+6+5. 7+6+18. 4+ (1+1*x6+1) 45.5
BHRE| 18.4-1. 4+ (1+1%2+1) 18.7
HFAMR| 1. 4+6+5. 7+6+23. 6+ (1+1) 4.7
L-3% [E&IR| (9.4-8. 1+2. 8+(1+6+1))*2 24.2
B[ (9.4+7.5+(1+1)) %2 37.8
R 13.5-9. 4+ (1+1) 6.1
BERER[ 11.4-9. 4+ (0+1x2+1) 29
BHiRgg| 9.4-6+5. 7+11. 4+1+ (1+1%6+1) 29.5
EHRER| 9. 4+8. 8+ (1+1%2+1) 22.2
B2 9. 4-6+5. T+6++8. 8+ (1+1%2+1) 21.9
HMEMR| 14.1-9. 4+ (1+1) 6.7
L-45 [ERIR] (9.4-8.1+2. 8+ (1+6+1) ) *2 24.2
BRE| (9.4+7.5+(1+1))*2 37.8
EEETRE] 13.5-9. 4+ (1+1) 6.1
BHRER| 11.4-9. 4+ (1+1%2+1) 29

€e-¢€



W 2 5 8 8 B3/47)
ETCEf# L= e (kYY) [ER]
4 MMEJLICERTI (5/8)
1§ B =® & Bl HE | B | E Hy
Hes| 9.4-6+7. 7+11. 4+1+ (1+1x6+1) 29.5
HiREE| 9. 4+8. 8+ (1+1%2+1) 22.2
HiR25| 9.4-6+7. 7+6++8. 8+ (1+1%2+1) 29.9
fEAR| 14.1-9. 4+ (1+1) 6.7
=118 908
600V GV 2sg-3C m 40.8 | L-1 JIF# | 6+0.6+(1) 7.6
L-2 |IF# | 6+0.6+(1) 7.6
L-3 |IF# | 6+5.8+(1) 12.8
L-4 |IF# | 6+5.8+(1) 12.8
=t18 40. 8
FCPEV-S 0. 65-30P m 78.9 |L1IFSE|FEMS1| 18. 4+7+ (1+1*2+1) 29.4
L2IF&E [ E#&S1| 1. 4+6+5. 7+6+18. 4+ (1+1) 39.5
LIIFSE [ &S| 11.4-8. 4+ (1+1) 5
LAIFSE [ E&S1| 11.4-8. 4+ (1+1) 5
=118 78.9
FCPEV-S 0. 65-20P m 135.8 |L1IFSE| E4&S2| 14 4+7+(1+1) 23. 4
L1IF&E | E&S4| 7-3.9+(1+1) 5.1
L2IF& [ E4#S2| 1. 4+6+5. 7+14. 4+6+ (1+1) 35.5
L2IF& | E48S4] 1. 4+6+5. 7+6-3. 9+ (1+1) 17.2
LIIFEE [ E4&S2| 9.4-7. 3+ (1+1) 4.1
LIIFEE [ 4254 9. 4+8. 8+ (1+1) 20.2
L3S2 |E#&S2| 1+(1+1) 3

ye-€



H 8 5 B F (B447)
ETCERim T = W% GrEy), R
4. 2 5ILICE#T (6/8)
] B =® ¥k By %= | 8| =E &t

L4IFgE | E48S2| 9.4-7. 3+ (1+1) 41

LAIFSE [ H4RS4] 9. 4+8. 8+ (1+1) 20.2

L4S2 [=H#&S2[ 1+(1+1) 3

at 135.8

FCPEV-S 0. 65-10P m 113.5 |LIIFSE | BERMR| 1+5. 7+6+15. 1+ (1+6+5. 7+2. 8+1) 44.3

L2IFE | ERMR| 1. 4+6+5. 7T+6+15. 1+ (1+6+2. 8+1) 45

L3IFE | ERIR| 9.4-8. 1+2. 8+ (1+6+1) 12. 1

LAIFE[ERWR| 9.4-8. 1+2. 8+ (1+6+1) 12. 1

At 113.5

FGPEV-S 0. 65-5P m 739. 1 |L1IFSE | smppsg| 7+22. 9+ (1+1) 31.9

L2IFE [aEpmag| 1. 4+6+5. 7+6+22. 9+ (1+1) 44

L3IF%E | BEbmak| 13.5-9. 4+(1+1) 6.1

LATFSE |BEprak| 13.5-9. 4+(1+1) 6. 1

Ligming| LiR#E| 22.9-2. 3+ (1+1) 22.6

Losbrig| LiRHE [ 22.9-2. 3+ (1+1) 22. 6

Lagmrig| LA | 9. 4+1+ (1+1) 12. 4

Laemtg| LIR4E ) 9. 4+1+(1+1) 12.4

LIIFSE |BRESE| 7-1. 6+ (1+1) 7.4

L2IFEE [BRRER | 1. 4+6+5. 7+6+2. 8+ (1+1) 23.9

L3IFEE [BRFRER| 9. 4+7. 5+ (1+1) 18.9

LAIFSE | BERER( 9. 4+7. 5+ (1+1) 18.9

LIIFSE | fkiR| 23. 6+7+(1+1) 32.6

L2IF&E [ snRtR| 1. 4+6+5. 7+6+23. 6+ (1+1) 44.7

GE-€



N 8 5 8 F (B5747)
ETCRA R T BE (TEY), R
4. 2 5ILICE#T (7/8)
] B =® i Bify 2 | 8| E &t

L3IFSE | snkiR| 14.1-9. 4+ (1+1) 6.7
LAIFE | snRiR| 14.1-9. 4+ (1+1) 6.7
LizEgz|Lisgez| (18.4+6) %2+8. 5+ (1+1) 59.3
LsEgg|uEsg| (14, 4+6) *2+8. 5+ (1+1) 51.3
Lisssg|LigEse| (6-3.9)*2+8. 5+ (1+1) 14.7
Lsgiz|Losge| (18.4+6) %2+5. 7+ (1+1) 56.5
Lsgig|losg®| (14.4+6) %2+5. 7+ (1+1) 48.5
Lompip|Lomipe| (6-3.9)*2+5. 7+ (1+1) 1.9
Lamtask|L3s| (11.4-6) %2+5. 7+ (1+1) 18.5
Lempiz|Lsmpz| (7. 3-6)*2+5. 7+ (1+1) 10.3
L3mspiz|Lsmipm| (6+8.8)*2+5. T+ (1+1) 37.3
Lsgz|usgz| (11.4-6)%2+7. 7+ (1+1) 20.5
Lamimsg|Lagmz| (7. 3-6)*2+7. 7+ (1+1) 12.3
Lamimsg|Lagmz| (6+8.8)*2+7. 7+ (1+1) 39.3
L-1 | IF# [ 6+0.6+(1) 1.6
L-2 | IF# [ 6+0.6+(1) 1.6
L-3 | IF# ([ 6+5.8+(1) 12.8
L-4 |IF# [ 6+5.8+(1) 12.8

a&t 739. 1

9€-¢€



H 2 5 &

=2 (36./47)

ETCE: i T % (kYY) [ER]
4. 2 5ILICE#T (8/8)
] B T i Bify 2 | 8| E &t
5G-2V m 38.2 |EEHI L-3 | 12.1+6+(1) 19.1
L-4 | 12.1+6+(1) 19.1
&&t 38.2
ESLLANT-7" ) (CAT5) m 69.1 |L1IFS[BrsR2R| 7-1. 6+ (1+1) 1.4
L2IF5E | BRFRES| 1. 4+6+5. 7+6+2. 8+ (1+1) 23.9
L3IFE[BRFER| 9. 4+7. 5+ (1+1) 18.9
LAIFE [BRRES| 9. 4+7. 5+ (1+1) 18.9
&&t 69. 1

LE-E



¥ =S = o1
N & 5 8 2 (37.47)
ETCER{iF T = BE . LtY), [ER]
5. IB#{EETBEHRT (1/11)
- | =] + P& B {8 | 8| = 5t -
1. RET HEERFAORGIITEYESHTINES S
(M E yb-2)-7942A 600V CVT 100sq m 15.9 |prZefg [{Re8g| 5. 3+2. 8+1+(1+1) 11.1
weazlups | 1418+ (1+1) 4.8
&t 15.9
600V CV 38sg-3C m 51.1 |FrZE# [sL—>] (5.3+3.9+(1)) %3 30.6
UPS | ETCH | 1.8+2. 8+43. 9+10+ (1+1) 20.5
8&t 51.1
600V CV 22sq-3C m 28.5 UPS |L-5.6,7] (1.8+2.8+3.9+(1))*3 28.5
600V CV 14sq-3C m 28.5 UPS [L-2,3,4] (1.8+2.8+3.9+(1))*3 28.5
600V CV 2s0-3C m 60.0 |EEEEHI|I 74 | 15%4 60
FCPEV-S 0. 65-5P m 60.0 |EEBS&I| 174 | 15%4 60
5C-2V m 45.0 |EEEHI| h A S| 1543 45
MM 4C m 50.0 | ETC=E | B&IF | 10%6 30
ETCZE [HimB| 10%x2x2 20
a5 50
IV 8sq m 20.0 [$Eimfg| gL —>] 10%2 20

8€-€



W 2 5 8 2 3847
ETCEf# L= e (kYY) [ER]
5. IRMABEMBTBEREHKT (2/11)
1§ B =® & Bl HE | B | E Hi

Q) e ERN 600V GV 38sg-3C m 177.8 |FrZEfg|sL—>| (40.6+2.5)*3 129.3
UPS | ETC%4 | 40.6+7.9 48.5
=118 177.8
600V GV 22s9-3C m 129.3 | UPS [L-5,6,7] (40.6+2.5)%*3 129. 3
600V GV 14sg-3C m 129.3 | UPS [L-2,3 4] (40.6+2.5)%*3 129.3
600V GV 2sg-3C m 62.4 |HEEHI| 1L-2 | 7.9+2.5 10. 4
-3 | 7.9+2.5 10. 4
-4 | 7.9+2.5 10. 4
-5 | 7.9+2.5 10. 4
-6 | 7.9+2.5 10. 4
-7 ] 7.9+2.5 10. 4
=1 62. 4
FCPEV-S 0. 65-5P m 62.4 [EEHI L-2 | 7.9+2.5 10. 4
-3 | 7.9+2.5 10. 4
-4 | 7.9+2.5 10. 4
L-5 | 7.9+2.5 10. 4
L-6 | 7.9+2.5 10. 4
L-7 | 7.9+2.5 10. 4
&E 62. 4

6€-€



W =2 5 8 2 39/747)
ETCEf# L= e (kYY) [ER]
5. IRABMBSTBEHRT (3/11)
| = =® & Bf = | B | E &t

5C-2V m 31.2 |EHEEHI) L-5 | 7.9+2.5 10. 4
-6 | 7.9+2.5 10. 4
-7 ]| 7.9+2.5 10. 4
=1 31.2
MM 4C m 62.4 |ETC=| L-2 | 7.9+2.5 10. 4
-3 | 7.9+2.5 10. 4
-4 | 7.9+2.5 10. 4
-5 | 7.9+2.5 10. 4
-6 | 7.9+2.5 10. 4
-7 ] 7.9+2.5 10. 4
=1 62. 4
IV 8sq m 20.8 |3EimdE| L-4 | 7.9+2.5 10. 4
-7 ] 7.9+2.5 10. 4
=1 20. 8

ov-¢€



o8 5 8 & 404D

ETCEf# L= e (kYY) [ER]
5. BB ETBEMRT (4/11)
15 B = ¥R B %H & | B | E H "
G BHEY b 600V GV 3. 5s9-3C m 1,139.5 [ L-2% [ERHMR| (10.8-5.8+5. 7+15. 1-5. 8+5. 7+2. 9+ (1+6+1) ) x2 73.2
Bese| (10.8+1.6+(1+1))%2 28.8
HrEE( 22.9-10. 8+ (1+1) 14. 1
Ea25| 18.4-10. 8+ (1+1x2+1) 11.6
HiRES| 18.4-5. 8+6. 2+18. 4+ (1+1%2+1) 41.2
e8| 10.8+3. 9+ (1+1x2+1) 18.7
HiRES[ 10. 8-5. 8+6. 2+5. 8+3. 9+ (1+1%2+1) 24.9
fMERM| 23.6-10. 8+ (1+1) 14.8
L-3%4 |E&X#x| (10.8-5.8+15. 1-5. 8+2. 9+ (1+6+1) ) *2 50.4
Bese| (10.8-2.8+(1+1))%2 20
PR 22.9-10. 8+ (1+1) 14. 1
FHa25| 18.4-10. 8+ (1+1x2+1) 11.6
HiREs| 18.4-5. 8+6. 2+18. 4+ (1+1%2+1) 41.2
25| 10.8+3. 9+ (1+1x2+1) 18.7
HRES[ 10. 8-5. 8+6. 2+5. 8+3. 9+ (1+1%2+1) 24.9
FEAMR| 23.6-10. 8+ (1+1) 14.8
L-4%5 |EXR#x| (10.8-5. 8+15. 1-5. 8+2. 9+ (1+6+1) ) *2 50.4
mzeE| (10.8-2.8+(1+1))*2 20
R 22.9-10. 8+ (1+1) 14. 1
i3] 18.4-10. 8+ (1+1%2+1) 11.6
H1225| 18.4-5. 8+6. 2+18. 4+ (1+1%x2+1) 41.2
HF1a25| 10. 8+3. 9+ (1+1x2+1) 18.7
B38| 10.8-5. 8+6. 2+5. 8+3. 9+ (1+1%2+1) 24.9
| 23.6-10.8+(1+1) 14.8
L-55 [Etm]| (9.9+7. 5+(1+6+1)) %2 50. 8

ly-€



o8 5 8 8 414D

ETCERim T = W% GrEy), R
5. IRHAMSIASTBERMKIL (5/11)
] B =® ¥k By %= | 8| =E &t =

R (9.9-7+(1+1)) 2 9.8

WETHE| 9. 9+9. 6+(1+1) 21.5

BHRRER] 9. 9+0. 1+ (1+1%2%4+1) 29

BHiRE] 9. 9-5. 8+5. 7+8. 8-5. 8+8. 8+9. 1+ (1+1%2%4+1) 40.7

HFEAR] 9. 9+9. 9+ (1+1) 21.8

L-6% [B&RR| (9. 9+7. 5+ (1+6+1)) *2 50. 8

BRE| 9.9-7T+(1+1))*2 9.8

WETHE 9. 9+9. 6+(1+1) 21.5

HiRE[ 9. 9+9. 1+ (1+1%2%4+1) 29

BHiRgg| 9.9-5.8+5. 7+8. 8-5. 8+8. 8+9. 1+ (1+1x2*4+1) 40.7

FNFEAR| 9. 9+9. 9+ (1+1) 21.8

L-75 [E&RMR| (9. 9+7. 5+ (1+6+1)) *2 50. 8

BRE| 9.9-7T+(1+1))*2 9.8

MR 9. 9+9. 6+ (1+1) 21.5

BHRRER| 9. 9+0. 1+ (1+1%2%4+1) 29

BHRE] 9. 9-5. 8+5. 7+8. 8-5. 8+8. 8+9. 1+ (1+1%2%4+1) 40.7

FNFEAR| 9. 9+9. 9+ (1+1) 21.8

&t 1139.5

cv-€



W 2 5t 8 8 42/47)
ETCEf# L= e (kYY) [ER]
5. IRMABEMSTBEREHKT (6/11)
| = =® & Bf = | B | E &t

600V GV 2sg-3C m 24.0 | L-2 |IF#E [ 5.8-0.6+(1) 6.2
L-3 |[F## | 5 8-0.6+(1) 6.2
L-4 |[F# | 5 8-0.6+(1) 6.2
L-5 |IF# | 5.8-5+(1) 1.8
L-6 |IF# | 5.8-5+(1) 1.8
L-7 |IF# | 5.8-5+(1) 1.8
&t 24
FCPEV-S 0. 65-30P m 90.8 |L2IF& | E=4&S1[ 18.4-10. 8+ (1+1*2+1) 11.6
LIIFS&E [ &E#&S1| 18.4-10. 8+ (1+1) 9.6
LAIFSE [ & #S1| 18.4-10. 8+ (1+1) 9.6
LSIFSE[E&S1[ 9. 9+8. 1+ (1+1) 20
LOIFSE[EES1[ 9. 9+8. 1+ (1+1) 20
L7IFSE[E&S1[ 9. 9+8. 1+ (1+1) 20
=118 90. 8

€v-€



M 8 5t 8 8 43/47)
ETCEf# L= e (kYY) [ER]
5. BB ETBEMRT (7/11)
15 B = ¥R B | %= | 8| =E &t H

FCPEV-S 0. 65-20P m 117.2 |L2IF5 [ H#S2| 14.4-10. 8+ (1+1) 5.6

L2IF5 | E4&S4] 10.8+3. 9+ (1+1) 16.7

LIIFE | E#S2| 14.4-10. 8+ (1+1) 5.6

L3IFE | #E4S4] 10.8+3. 9+ (1+1) 16.7

L4IFE | E#&S2| 14.4-10. 8+ (1+1) 5.6

L4IFE | E42S4] 10.8+3. 9+ (1+1) 16.7

LSIFE | E4S2] 9.9+4. 1+(1+1) 16

L5IFEE| E4RS4{ 9. 9-8. 8+ (1+1) 3.1

L5S2 |E#S2| 1+(1+1) 3

L6IFEE| E4RS2{ 9. 9+4. 1+ (1+1) 16

L6IFE | E4S4] 9.9-8.8+(1+1) 3.1

L6S2 |E#S2| 1+(1+1) 3

L7IFE | #E4S54] 9.9-8.8+(1+1) 3.1

L7S2 | E#S2| 1+(1+1) 3

&t 117.2

FCPEV-S 0. 65-10P m 163.2 [L2IF&|ERHM| 10.8-5. 8+5. 7+15. 1-5. 8+5. 7+2. 9+ (1+6+1) 36.6

LIIF&E|EXRMR| 10.8-5. 8+15. 1-5. 8+2. 9+ (1+6+1) 25.2

LAIFE[ER#Mx| 10.8-5. 8+15. 1-5. 8+2. 9+ (1+6+1) 25.2

LoIFEE [ RIR| 9. 9+7. 5+ (1+6+1) 25.4

LOIFEE [ RIR| 9. 9+7. 5+ (1+6+1) 25.4

L7IFE|[ERIR| 9. 9+7. 5+ (1+6+1) 25.4

it 163. 2

4%t>



H 8 5 B F 4447
ETCEf# L= e (kYY) [ER]
5. IRHASILSTBRKTL (8/11)
] B s ¥k B L & | B | E &t
FGPEV-S 0. 65-5P m 887.5 |L2IF& mpms) 22. 9-10. 8+ (1+1) 14.1
L3IFSE | prag) 22.9-10. 8+ (1+1) 14.1
LATFEE [EEmrag| 22. 9-10. 8+ (1+1) 14.1
LoIFSE | EpmagE) 9. 9+9. 6+(1+1) 21.5
LOIFSE | R 9. 9+9. 6+(1+1) 21.5
L7IFSE | R 9. 9+9. 6+ (1+1) 21.5
Lo | LiRHE| 22.9-2. 8+ (1+1) 22.1
Labrig| LIRHE [ 22.9-2. 8+ (1+1) 22.1
Laszbrng| LIREE [ 22.9-2. 8+ (1+1) 22.1
Loshrig| Li2HE( 9. 6-1. 6+ (1+1) 10
Lehrtg| Li2#E( 9. 6-1. 6+ (1+1) 10
Lo | Li2#E | 9. 6-1. 6+ (1+1) 10
L2IF& [BERER | 10.8+1. 6+ (1+1) 14. 4
L3IF&E [BRFER | 10. 8+1. 6+ (1+1) 14.4
LAIF&E [BRFRER | 10.8-2. 8+ (1+1) 10
LoIFSE | BRFRaR| 9. 9-7+(1+1) 4.9
LOIF&E [ BRFzaR] 9. 9-7+(1+1) 4.9
L7IF&E | BEFzaR] 9. 9-7+(1+1) 4.9
L2IF&E [ sn&Ax| 23. 6-10. 8+ (1+1) 14.8
L3IFE [ sn&Ax| 23. 6-10. 8+ (1+1) 14.8
LAIFE [ &4 | 23. 6-10. 8+ (1+1) 14.8
LoIFEE [ F1RAR| 9. 9+9. 9+ (1+1) 21.8
LOIFEE [FRAR| 9. 9+9. 9+ (1+1) 21.8
L7IFEE [ fRAR| 9. 9+9. 9+ (1+1) 21.8
Lomigiz|Lome®| (18.4-5. 8) *2+6. 2+ (1+1) 33.4

Gy-€



N 8 5 B F 45747
ETCRA R T W% GIhY), [R]
5. IRFEMETBEHRT (9/11)
] B =® i Bify 2 | 8| E &t

Lomtask| Loz (14.4-5. 8) %2+6. 2+ (1+1) 25.4
Lomtesk|Lomia| (5. 8+3. 9)*2+6. 2+ (1+1) 21.6
Lz 3sEn®| (18.4-5. 8)*2+5. 7+ (1+1) 32.9
LEgz|3sErz| (14.4-5. 8)*2+5. 7+ (1+1) 24.9
Lasigpiz|3mm®| (5. 8+3.9)x2+5. 7+ (1+1) 27.1
Lz usne| (18.4-5. 8)*2+5. 7+ (1+1) 32.9
Lz usne| (14.4-5. 8)*2+5. 7+ (1+1) 24.9
Lamtask|Lamip| (5. 8+3. 9)*2+5. 7+ (1+1) 27.1
Lomtask|Log4a| (8. 1+5. 8) *2+5. 7+ (1+1) 35.5
Lomtask|Loia| (4. 1+5. 8) *2+5. 7+ (1+1) 21.5
Lomtask|LoEa| (8. 8-5. 8)*2+5. 7+ (1+1) 13.7
Leziiz|Lemm®| (8. 1+5.8)x2+7. 5+ (1+1) 37.3
Lezipiz|Lemm®| (4. 1+5. 8) x2+7. 5+ (1+1) 29.3
Lezipiz|Lemm®| (8.8-5.8)x2+7. 5+(1+1) 15.5
Lz 7sge| (8. 1+5. 8) x2+7. 5+ (1+1) 37.3
LEgz|usgz| (4. 1+5.8)x2+7. 5+ (1+1) 29.3
Lrsesk|L7E| (8. 8-5. 8)*2+7. 5+ (1+1) 15.5
L-2 | I¥#£] 5.8-0.6+(1) 6.2
L-3 | IF#] 5.8-0.6+(1) 6.2
L-4 | IF#] 5.8-0.6+(1) 6.2
L-5 | IF#([ 5 8-5+(1) 1.8
L6 |IF4# [ 5 8-5+(1) 1.8
L-7 |IF# [ 5.8-5+(1) 1.8

a&t 887.5

9¥-€



o8 5 8 & 464D

ETCEf# L= e (kYY) [ER]
5. BB ETBERT (10/11)
15 B = R Hiy| HE | 8| E H -]
5C-2V m 21.9 | =8| L-5 [ 12.1-5.8+(1) 1.3
L-6 | 12.1-5.8+(1) 1.3
L-7 [ 12.1-5.8+(1) 1.3
it 21.9
ESLLANT=7" )l (CATS) m 49.1 |L2IF&% | Bg&ae] 10.8+1. 6+ (1+1) 14. 4
LIIFE | B8k 25| 10.8-2. 8+ (1+1) 10
L4IFE| B85k 28] 10.8-2. 8+ (1+1) 10
LOIFE [ BEEE[ 9.9-7+(1+1) 4.9
L6IFE [ BEEE[ 9.9-7+(1+1) 4.9
L7IF&E | BgFER] 9. 9-7+(1+1) 4.9
&it 49.1
B ERZ VY 600V GV 38sg-3C m 235.8 |{EENHE| AL-V | 18.9+5. 7%3+5%b 61
EENHE| -V | 18. 9+5. 7xb+bxb 12.4
{EEpEE| £1-v | 18.9+5. Tx5+5%11 102. 4
it 235.8
600V GV 22sg-3C m 140. 1 UPS | HL-U| 18. 9%3+5. 7x (3+4+5) +5%3 140. 1
600V GV 14sq-3C m 105.9 | UPS | Ab-v| 18.9%3+5. 7% (1+2+3) +5%3 105.9

Ly-€



H 2 5 &

2 4r7/47)

ETCER{iF T = BE . LtY), [ER]
5. BREBHWETBEHSETLT (11/11)
1] = i+t % Bl H#E (B | = &t
5C-2V m 140. 1 | EEH|| HU-v | 18. 9%3+5. 7* (3+4+5) +5%3 140. 1
MM 4C m 246.0 |Semim| HU-v | 18. 9%3+5. 7 (3+4+5) +5%3 140. 1
JeRkig| A=Y | 18. 9%3+5. 7x (1+2+3) +5*3 105.9
|8&t 246
IV 8sq m 102. 4 | s | &U-v | 18. 945, 7Tx5+5%11 102. 4

8¥-€



(&% & &£ & xR 1]
TAE : AR T
HH AR B FIFFHIC N =AY kA lARIC WA BL AL 55 TB At

(V¥ Y b7 Y —F 27 AN [600V CVT 100sq m 15.9 15.9
600V CVT 60sq m 7.2 26.9 12.0 46.1
600V CV 38sq—3C m 51.1 51.1
600V CV 22sq-3C m 57.8 11.3 8. 28.5 105. 7
600V CV 14sq-3C m 35.1 12.8 51.8 28.5 128. 2
600V CV 8sq—3C m 9.7 17.0 36.0 62.7
600V CV 2sq-3C m 40. 0 40.0 40.0 60. 0 180. 0
FCPEV-S 0. 65-5P m 40. 0 40.0 40. 0 60. 0 180. 0
5C-2V m 20. 0 20. 0 20. 0 45.0 105. 0
MM 4C m 80. 0 40.0 80.0 50. 0 250. 0
IV 8sq m 20. 0 20. 0 20. 0 20. 0 80. 0

(2) Hurp &N 600V CVT 60sq m
600V CV 38sq-3C m 177.8 177.8
600V CV 22sq-3C m 316. 4 57.4 117.9 129. 3 621.0
600V CV 14sq-3C m 244.7 112.0 304. 9 129. 3 790.9
600V CV 8sq—3C m 101. 2 237.9 102. 8 441.9
600V CV 5.5sq-3C m
600V CV 3.5sq-3C m
600V CV 2sq-3C m 342.6 227.6 405. 2 62. 4 1037.8
FCPEV-S 0. 65-5P m 342.6 227.6 405. 2 62. 4 1037.8
5C-2V m 182.7 108. 1 208. 3 31.2 530. 3
MM 4C m 342. 6 271. 2 405. 2 62. 4 1081. 4
IV 8sq m 177.0 78.4 208. 3 20.8 484.5

6¥-€



HH fEAR BN FFFIC A B IC kr s AEIC NES VR DL 55 TB &t
BB EY P 600V CV 3.5sq-3C m 785.3 770. 2 908. 0 1139.5 3603. 0
600V CV 2sq-3C m 38.2 16.0 40. 8 24.0 119.0
FCPEV-S 0. 65-30P m 67.6 61.2 78.9 90. 8 298.5
FCPEV-S 0. 65-20P m 117.2 88. 8 135.8 117.2 459.0
FCPEV-S 0. 65-10P m 107.1 112.6 113.5 163. 2 496. 4
FCPEV-S 0. 65-5P m 623.5 588.9 739. 1 887.5 2839. 0
5C-2V m 39.0 14.6 38. 2 21.9 113.7
JBHLANS=7" v (CAT5) m 48.4 34.2 69. 1 49.1 200. 8
WENZ vz 600V CVT 60sq m
600V CV 38sq—3C m 235. 8 235.8
600V CV 22sq-3C m 140. 1 140. 1
600V CV 14sq-3C m 105.9 105. 9
600V CV 8sq-3C m
600V CV 5. 5sq-3C m
600V CV 3. 5sq-3C m
600V CV 2sq-3C m
FCPEV-S 0. 65-5P m
5C-2V m 140. 1 140. 1
MM 4C m 246. 0 246. 0
IV 8sq m 102. 4 102. 4
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(1) i
av91)—k
Vi-1 =6.306%4.806%0.7+5.03%2.63*0.03=
V1-2  =0.5%0.3%((0.3+1.3+2.5)*2-0.6)=
V1-3 =0.615%0.3%1.3=
V1-4 =0.6%0.9%0.5=
V1 =(V1-1)-(V1-2)-(V1-3)-(V1-4)=
B
A1-1 =0.7%(6.306*%2+4.806%2)=
A1-2 =0.3%(0.5%3+(0.3+1.3+2.5)*%4-0.6%3+0.615%2)=
A1-3 =0.5%(0.6+0.9+0.4)+0.2%(0.6+0.5)=
Al1-4 =0.5%((0.3+1.3+2.5)*%2-0.6)+0.615%1.3+0.6%0.9=
Al =(A1-1)+(A1-2)+(A1-3)+(A1-4)=
7930
D16
e Hl
V2 =0.55%5.406%6.906=
HER
V3 =V2-5.006%6.506%0.2—4.806%6.306%0.35=
b=
V4 =5.006*6.506%0.05=
AR
V5 =5.006%6.506%0.15=

21.612 m3
1.14 m3
0.24 m3
0.27 m3

19.962 m3

15.557 m2
9.199 m2
1.17 m2
9.14 m2
27.066 m2
1174.23 kg
20.534 m3
3.413 m3
1.628 m3

4.885 m3
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